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:It,ﬁa_ KHI EkFExY 18,150.0 15,675.0 8,075
aaki ExFEEY 2.475.0 2,475.0 8,053
/|NRiL AATIL 495.0 — -
IR 1xXH 3,960.0 — -
BEHF (KA 599 660.0 - —
saki 5599 165.0 — -
BF | oy 825.0 825.0 8,210
ZDith 165.0 — -
B [ KA SOt 495.0 495.0 10,170
2okl SOt 2.145.0 990.0 8,660
KHI a4 330.0 330.0 8,450
2okl Ao LA 660.0 165.0 7,500
AL AFFH/\ 1,650.0 — -
FhfiL BFFHIN 330.0 — —
Z Dk 4950 — -
Wz [ KHL HRIFIFAH 165.0 - -
2okl BRIXIFAH 165.0 — -
2okl I LA 165.0 — -
Z D1t 4950 165.0 7,650
AR | KFI BRIFIFAH 990.0 — —
RPN ] BQIXIFAH 990.0 165.0 7,770
2okl BRIXIFAH 495.0 — -
2okl I LA 990.0 — -
ZFDith 165.0 165.0 6,500
Bl | KH BRIFIFAH 495.0 495.0 7,800
22k} BRIFIFAH 495.0 4950 7,420
(=E i Laak ) BRIFIFAH 495.0 495.0 7,420
I8 | KA 7913h 496.5 496.5 7,620
2aki 293143h 661.0 661.0 7,420
B (Dl 293435 330.0 — -
FDith 2,310.0 660.0 7,603
= Z Dk 558.0 330.0 7,530
HE Z Dk 825.0 - —
W g HFaAEH 165.0 165.0 7,420
2 | KFL 7913h 160.0 160.0 8,690
aaki 7913h 160.0 160.0 7,890
ZDith 330.0 - =
REER | KHI 7913h 165.0 165.0 8,140
Z Dt 165.0 — -
2[5 45,430.5 25,732.5 8,050
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